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English
Mahatma Gandhi freed India from the British

Empire. He did not fight the British with guns, because
he loved all people. But he wanted the British to leave
India. Whenever the British did wrong, Gandhiji did not
take food for days. He asked the people not to work for
the British.
The British put him in jail. Thousands of Indians
followed Gandhiji’s words. The British arrested them
and put them in Jail. But still thousands more were
ready to go the Jail. The British could do nothing except
leave India. We won Independence in 1947.

11.Who lead India to Independence?
1. The British people.
2. Mahatma Gandhi
3. The British Empire.
4. The Indian people.
12. Gandhiji ate nothing when ---
1. He went to jail
2. He did not work.
3. The British did wrong
4. Indian won freedom.
13. What did the British finally do?
1. They left India
2. They arrested thousand of people
3. They put Gandhiji in Jail
4. They did nothing.

14. Your friend is go}ng on an excursion. What
Would you say to him?
1. m ity 2. Good luck
3. n}gy u 4. Have a good time.
15. Mallika is Qriving by ---charminar Express.
a\ 2.an 3. The 4.No article
16.a) han drew a Knife
b) Murali drew out a knife.
‘ Who made a picture of the knife?

1. Mohan 2. Murali

3. Mohan or Murali 4. Both
17. Match the following.

Set -A Set -B

1. He ran so fast a) you will fall sick

2. If you eat with dirty hands b) what to say and how to say.
3.He won’t meet you ¢) the crops had dried up
4.As there was little rain this Year d) that are could not catch him.
5. You ought to know e) will he?

1. 1-a,2-b,3-c,4-d,5-¢ 2. 1-a,2-b,3-e,4-c,5-d

3. 1-d,2-e,3-a,4-b,5-c 4. 1-d,2-a,3-e,4-¢,5-b

18. We are studying English.
Write the passive form of above sentence?
1. English was studied by us
2. English was being studied
3. English is being studied by us
4. English studied by us
19. He said to her, “Are you a painter?”.
Reported speech of above is -----
1. He asked her whether she was a painter.
2. He asked her that she was a painter.
3. He asked her she was a painter.
4. He said to her it she was a painter.
20. I am right, ------- ?
1. Aren’t I? 2.Don’tI?
3.Isn’t 1 4. Wasn’t I?
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